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Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.       
Question 1: A. both	B. tenth	C. myth	D. with 
Question 2: A. comb	B. come	C. some	D. month
Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3: A. visit	B. appear	C. promise	D. finish
Question 4: A. condition	B. funeral	C. musician	D. decision
Mark the letter A, B, C or D to indicate  the correct answer to each of the following questions. 
Question 5: Scholars believe that there are still relics ______ under the tomb and awaiting to be excavated.
	A. are burying	B. buried	C. burying	 D. are buried
Question 6: The rooms in the front ______ noisier than those in the back.
    A. are more	          B. are little	                C. are very	            D. are much
Question 7:  I will have tidied up the bedroom _______ home tomorrow.
	A. after my parents had arrived	B. before my parents will arrive
	C. as soon as my parents arrived	D. by the time my parents arrive
Question 8: He is responsible ______ recruiting and training new staff.
	A. to	B. for	C. about	D. of
Question 9: Your sister used to visit you quite often, ______ ?
	A. didn't she	B. doesn't she	C. wouldn't she	D. hadn't she
Question 10: After a long journey, I was looking forward to sleeping in _______ comfortable bed.
	A. an	B. some	C. the	D. a
Question 11: The plaster on the walls has been removed to expose the original ______ underneath. 
	A. bricks	B. pipes	C. bars	D. tiles
Question 12: I'm searching for websites offering career advice so that I can ______ a plan. 
   A. come up against	 B. come up with 	        C. draw up with	  D. come across with 
Question 13: We avoided _______ through the city during the rush hour.
	A. drive	 B. driving                       C. to drive	  D. drove
Question 14: Take the next left, then first right, and just follow your ______ until you see the stadium on your left.
	A. nose	 B. eye	   C. head	 D. foot
Question 15: I ______ to the radio when Helen phoned.
	A. was listening	 B. listened	   C. will listen	 D. listen
Question 16: The talks failed to ______ any progress toward a settlement. 
	A. ask	B. make	C. let	D. call
Question 17: Lionel Messi ______ as one of the best football players of all times.
	A. regards	 B. is regarded	  C. has regarded	 D. regard
Question 18: Any new company is seen as an invader in an already ______ market. 
	A. compete	B. competition	C. competitive	D. competitively
Question 19: I think he feels a lot of ______ towards his father, who treated him very badly as a child. 
	A. wonder	B. server	C. shelter	D. anger
Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Question 20: Tom is talking to his friend, Susan.
- Tom: "How about going to the cinema tonight?
- Susan: "______ ."
	A. You’re welcome		B. I feel very bored
	C. I don't agree, I'm afraid	D. That sounds great
Question 21 : Jenifer and John were talking about their study at school.
- Jenifer: "I thought your English skill was a lot better, John."
- John: "______."
	A. No, thanks. I think I can do it.                     B. You've got to be kidding. I thought it was still bad.
	C. Thank you. I'd love to.                                D. Yes, please. Just a little.
Mark the letter A, B, C or D to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.
Question 22: Only a minority of people support these new laws so they will not be passed.
	A. lack	B. majority	C. shortage	D. redundancy
Question 23: What makes the problem worse is that Howard and Tina are not on the same wavelength about how to deal with it.
	A. behave in the same way	B. share their opinions
	C. want the same wave		D. have their length in common
Mark the letter A, B, C or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions. 
Question 24: There are many TV commercials distracting viewers from watching their favorite films.
	A. economics	B. businesses	C. contests	D. advertisements
Question 25: They may refuse to negotiate with terrorists who were accused of inhumanity in the treatment of the hostages.
	A. justice	B. equality	C. kindness	D. cruelty
Mark the letter A, B, C or D to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: Perhaps Susan knows the name of every kid in the school.
A. Susan needn't know the name of every kid in the school.
B. Susan may know the name of every kid in the school.
C. Susan should know the name of every kid in the school.
D. Susan mustn't know the name of every kid in the school.
Question 27: The last time she saw her elder sister was in 2019.
A. She didn't see her elder sister from 2019.
B. She has seen her elder sister since 2019.
C. It was not until 2019 that she saw her elder sister.
D. She hasn't seen her elder sister since 2019.
Question 28: “I'm sorry I gave you the wrong number”, said Paul to Susan.
A. Paul apologized to Susan for having given the wrong number.
B. Paul denied giving Susan the wrong number.
C. Paul thanked to Susan for giving the wrong number.
D. Paul accused Susan of having given him the wrong number.
Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Question 29: A £100 award has been offered for the return of the necklace. 
	A. award 	  B. has been offered 	   C. for 	  D. the 
Question 30: Last month, I go back to my hometown to visit my grandparents.
	A. Last	B. go	C. hometown	D. grandparents.
Question 31: You can remember those words easily if you write it down in your notebook.
	A. those	B. easily	C. write	D. it
Mark the letter A, B, C or D to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: He was able to finish his book. It was because his wife helped him.
A. If it weren't for his wife's help, he couldn't have finished his book.
B. If only he had been able to finish his book.
C. If his wife hadn't helped him, he couldn't have finished his book.
D. But for his wife's help, he couldn't finish his book.
Question 33: Yuri Gagarin made a successful space flight in 1961. Human's uncertainties about universe were enlightened only then.
A. Hardly had Yuri Gagarin made a successful space flight in 1961, human's uncertainties about universe were enlightened.
B. Without human's uncertainties about universe, Yuri Gagarin wouldn't have made a successful space flight in 1961.
C. Not until human's uncertainties about universe were enlightened did Yuri Gagarin make a successful space flight in 1961.
D. Only after Yuri Gagarin had made a successful space flight in 1961 were human's uncertainties about universe enlightened.
Read the following passage and mark the letter A, B, C or D to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38.
In a world of plenty, where enough food is produced to feed everyone on the planet, hunger should be a thing of the past. However, conflict, climate change, disasters, inequality and – (34) ______ recently – the COVID-19 pandemic mean one in nine people globally is still going to bed hungry and famine looms for millions.
Powered by the passion, dedication and professionalism of almost 21,000 staff worldwide, the World Food Programme (WFP) works in over 120 countries and territories to bring life-saving food to people displaced by conflict (35) ______ made destitute by disasters, and help individuals and communities find life-changing solutions to the multiple challenges they (36) ______ in building better futures.
We work to enhance nutrition in women and children, support smallholder farmers in improving productivity and (37) ______ losses, help countries and communities prepare for and cope with climate-related shocks, and boost human capital through school feeding programmes.
In conflict situations, we bring relief to exhausted populations and use food assistance to build pathways to peace and stability – work for (38) ______ WFP was awarded the Nobel Peace Prize in 2020.  
Question 34: A. many	B. much	C. other	D. most
Question 35: A. and	B. since	C. because	D. for
Question 36: A. send	B. face	C. prove	D. owe
Question 37: A. reducing	B. distributing	C. committing	D. reminding
Question 38: A. that	B. who	C. which	D. why
Read the following passage and mark the letter A, B, C or D to indicate the correct  answer to  each of the questions from 39 to 43.
There are over 3,000 species of mosquitoes in almost every country around the world, with roughly 200 species in the U.S. alone. Unfortunately, these flying pests can carry malaria, West Nile virus, dengue, yellow fever, Zika virus, and more. This danger to humans occurs when mosquitoes ingest the disease, carry it in their bloodstream and then transfer it to the next person they bite.
It’s a common misconception that mosquitoes suck blood for food. Mosquitoes ingest blood to nourish their bodies so they can lay and hatch healthy eggs. Mosquitoes can lay 100 eggs at a time, so populations of this pest can get out of control quickly. When eliminating mosquitoes, it’s key to use multiple methods, to kill mosquitoes at every stage of the life cycle.
It’s also important to note that repelling and killing mosquitoes aren’t the same thing. Repelling mosquitoes will keep them away from you by making you less attractive to them. They’re attracted to the carbon dioxide from our breath and elements of our sweat. Mosquitoes are also attracted to standing water, laying eggs in areas such as birdbaths, damp potting soil, standing water in kitchens, puddles, and more.
Killing mosquitoes may seem like a tempting option, but it’s not always in our—or the environment’s - best interest. That’s because mosquitoes can become resistant to pesticides, making them harder to kill over time. Try natural methods first if your infestation is minor, or turn to the pros if you’re dealing with serious mosquito problems.
Question 39: Which of the following can be the best title for the passage?
	A. Dangers of Mosquitoes	B. Mosquitoes and West Nile Virus
	C. Our Breath and Sweat	D. How Pesticides Kill Mosquitoes
Question 40: According to the passage, mosquitoes ______.
	A. include 3,000 species in the U.S. alone	B. suck blood to nourish their bodies		
	C. don’t lay eggs in birdbaths	D. can be killed easily with pesticides
Question 41: The word they in paragraph 2 refers to ______.
	A. bodies	B. healthy eggs	C. mosquitoes	D. populations
Question 42: The word infestation in paragraph 4 mostly means ______.
	A. distribution	B. definition	C. location	D. destruction
Question 43: Which of the following is NOT true according to the passage?
	A. Mosquitoes carry disease in their bloodstream.
	B. Multiple methods should be used to eliminate mosquitoes.
	C. There is little difference between repelling and killing mosquitoes.
	D. Professional methods must be used for serious mosquito problems.
Read the following passage and mark the letter A, B, C or D to indicate the correct answer to  each of the questions from 44 to 50.
Food security means having, at all times, both physical and economic access to sufficient food to meet dietary needs for a productive and healthy life. A family is food secure when its members do not live in hunger or fear of hunger. Food insecurity is often rooted in poverty and has long-term impacts on the ability of families, communities and countries to develop and prosper. Prolonged undernourishment stunts growth, slows cognitive development and increases susceptibility to illness.
Today, more than 800 million people across the globe go to bed hungry every night, most of them smallholder farmers who depend on agriculture to make a living and feed their families. Despite an explosion in the growth of urban slums over the last decade, nearly 75 percent of poor people in developing countries live in rural areas. Growth in the agriculture sector - from farm to fork - has been shown to be at least twice as effective in reducing poverty as growth in other sectors. 
Investing in these smallholder farmers - many of whom are women - and the food systems that nourish them is more important than ever. In order to feed a population expected to grow to 9 billion people by 2050, the world will have to double its current food production. Given scarcity of natural resources and other challenges, the world will need to be more efficient in how it meets this demand. To ensure that people have sufficient food, aligning short-term assistance with a long-term development strategy can help countries feed their own people.
By addressing acute need as well as the root causes of hunger, poverty and malnutrition, USAID is strengthening prosperity and security while demonstrating American generosity around the world. USAID’s programs draw on America’s strength in agriculture and bring benefits back to America as well. For example, USAID’s research investments have helped farmers abroad and in the United States protect their harvests from pests and disease.
The enactment of the Global Food Security Act of 2016 and the Global Food Security Reauthorization Act of 2018 solidified the U.S. Government’s continued, bipartisan commitment to reducing hunger, malnutrition and poverty around the world.
Question 44: Which of the following can be the best title for the passage?
	A. Living in Hunger or Fear of Hunger	B. Growth in the agriculture sector
	C. USAID’s research investments	D. What is Food Security?
Question 45: The word insecurity in paragraph 1 is closest in meaning to ______.
	A. charity	B. possibility	C. uncertainty	D. quantity
Question 46: According to paragraph 1, food security ______.
	A. is to meet dietary needs for a productive and healthy life
	B. means living in hunger or fear of hunger
	C. is often rooted in poverty and has long-term impacts
	D. increases susceptibility to illness
Question 47: The word them in paragraph 3 refers to ______.
	A. smallholder farmers	B. many	C. women	D. food systems
Question 48: The word acute in paragraph 4 is closest in meaning to ______.
	A. intense	B. arctic	C. severe	D. scarce
Question 49: Which of the following is NOT true according to the passage?
	A. Prolonged undernourishment slows cognitive development.
	B. Depending on agriculture to make a living is not secure.
	C. It need to be more efficient in meeting demand of food.
	D. USAID has helped farmers abroad harvest their product.
Question 50: Which of the following can be inferred from the passage?
	A. Food security is crucial, and many solutions have to be applied to secure it. 
	B. We must be more effective in reducing poverty as growth.
	C. A long-term development strategy can help reduce harvest time.
	D. The Global Food Security Act of 2016 allows the US to help other countries.
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Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.       
Question 1: A. both	B. tenth	C. myth	D. with 
Question 2: A. comb	B. come	C. some	D. month
Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.
Question 3: A. visit	B. appear	C. promise	D. finish
Question 4: A. condition	B. funeral	C. musician	D. decision
Mark the letter A, B, C or D to indicate  the correct answer to each of the following questions. 
Question 5: Scholars believe that there are still relics ______ under the tomb and awaiting to be excavated.
	A. are burying	B. buried	C. burying	 D. are buried
Question 6: The rooms in the front ______ noisier than those in the back.
    A. are more	          B. are little	                C. are very	            D. are much
Question 7:  I will have tidied up the bedroom _______ home tomorrow.
	A. after my parents had arrived	B. before my parents will arrive
	C. as soon as my parents arrived	D. by the time my parents arrive
Question 8: He is responsible ______ recruiting and training new staff.
	A. to	B. for	C. about	D. of
Question 9: Your sister used to visit you quite often, ______ ?
	A. didn't she	B. doesn't she	C. wouldn't she	D. hadn't she
Question 10: After a long journey, I was looking forward to sleeping in _______ comfortable bed.
	A. an	B. some	C. the	D. a
Question 11: The plaster on the walls has been removed to expose the original ______ underneath. 
	A. bricks	B. pipes	C. bars	D. tiles
Question 12: I'm searching for websites offering career advice so that I can ______ a plan. 
   A. come up against	 B. come up with 	        C. draw up with	  D. come across with 
Question 13: We avoided _______ through the city during the rush hour.
	A. drive	 B. driving                       C. to drive	  D. drove
Question 14: Take the next left, then first right, and just follow your ______ until you see the stadium on your left.
	A. nose	 B. eye	   C. head	 D. foot
Question 15: I ______ to the radio when Helen phoned.
	A. was listening	 B. listened	   C. will listen	 D. listen
Question 16: The talks failed to ______ any progress toward a settlement. 
	A. ask	B. make	C. let	D. call
Question 17: Lionel Messi ______ as one of the best football players of all times.
	A. regards	 B. is regarded	  C. has regarded	 D. regard
Question 18: Any new company is seen as an invader in an already ______ market. 
	A. compete	B. competition	C. competitive	D. competitively
Question 19: I think he feels a lot of ______ towards his father, who treated him very badly as a child. 
	A. wonder	B. server	C. shelter	D. anger
Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Question 20: Tom is talking to his friend, Susan.
- Tom: "How about going to the cinema tonight?
- Susan: "______ ."
	A. You’re welcome		B. I feel very bored
	C. I don't agree, I'm afraid	D. That sounds great
Question 21 : Jenifer and John were talking about their study at school.
- Jenifer: "I thought your English skill was a lot better, John."
- John: "______."
	A. No, thanks. I think I can do it.                     B. You've got to be kidding. I thought it was still bad.
	C. Thank you. I'd love to.                                D. Yes, please. Just a little.
Mark the letter A, B, C or D to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.
Question 22: Only a minority of people support these new laws so they will not be passed.
	A. lack	B. majority	C. shortage	D. redundancy
Question 23: What makes the problem worse is that Howard and Tina are not on the same wavelength about how to deal with it.
	A. behave in the same way	B. share their opinions
	C. want the same wave		D. have their length in common
Mark the letter A, B, C or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions. 
Question 24: There are many TV commercials distracting viewers from watching their favorite films.
	A. economics	B. businesses	C. contests	D. advertisements
Question 25: They may refuse to negotiate with terrorists who were accused of inhumanity in the treatment of the hostages.
	A. justice	B. equality	C. kindness	D. cruelty
Mark the letter A, B, C or D to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: Perhaps Susan knows the name of every kid in the school.
A. Susan needn't know the name of every kid in the school.
B. Susan may know the name of every kid in the school.
C. Susan should know the name of every kid in the school.
D. Susan mustn't know the name of every kid in the school.
Question 27: The last time she saw her elder sister was in 2019.
A. She didn't see her elder sister from 2019.
B. She has seen her elder sister since 2019.
C. It was not until 2019 that she saw her elder sister.
D. She hasn't seen her elder sister since 2019.
Question 28: “I'm sorry I gave you the wrong number”, said Paul to Susan.
A. Paul apologized to Susan for having given the wrong number.
B. Paul denied giving Susan the wrong number.
C. Paul thanked to Susan for giving the wrong number.
D. Paul accused Susan of having given him the wrong number.
Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Question 29: A £100 award has been offered for the return of the necklace. 
	A. award 	  B. has been offered 	   C. for 	  D. the 
Question 30: Last month, I go back to my hometown to visit my grandparents.
	A. Last	B. go	C. hometown	D. grandparents.
Question 31: You can remember those words easily if you write it down in your notebook.
	A. those	B. easily	C. write	D. it
Mark the letter A, B, C or D to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: He was able to finish his book. It was because his wife helped him.
A. If it weren't for his wife's help, he couldn't have finished his book.
B. If only he had been able to finish his book.
C. If his wife hadn't helped him, he couldn't have finished his book.
D. But for his wife's help, he couldn't finish his book.
Question 33: Yuri Gagarin made a successful space flight in 1961. Human's uncertainties about universe were enlightened only then.
A. Hardly had Yuri Gagarin made a successful space flight in 1961, human's uncertainties about universe were enlightened.
B. Without human's uncertainties about universe, Yuri Gagarin wouldn't have made a successful space flight in 1961.
C. Not until human's uncertainties about universe were enlightened did Yuri Gagarin make a successful space flight in 1961.
D. Only after Yuri Gagarin had made a successful space flight in 1961 were human's uncertainties about universe enlightened.
Read the following passage and mark the letter A, B, C or D to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38.
In a world of plenty, where enough food is produced to feed everyone on the planet, hunger should be a thing of the past. However, conflict, climate change, disasters, inequality and – (34) ______ recently – the COVID-19 pandemic mean one in nine people globally is still going to bed hungry and famine looms for millions.
Powered by the passion, dedication and professionalism of almost 21,000 staff worldwide, the World Food Programme (WFP) works in over 120 countries and territories to bring life-saving food to people displaced by conflict (35) ______ made destitute by disasters, and help individuals and communities find life-changing solutions to the multiple challenges they (36) ______ in building better futures.
We work to enhance nutrition in women and children, support smallholder farmers in improving productivity and (37) ______ losses, help countries and communities prepare for and cope with climate-related shocks, and boost human capital through school feeding programmes.
In conflict situations, we bring relief to exhausted populations and use food assistance to build pathways to peace and stability – work for (38) ______ WFP was awarded the Nobel Peace Prize in 2020.  
Question 34: A. many	B. much	C. other	D. most
Question 35: A. and	B. since	C. because	D. for
Question 36: A. send	B. face	C. prove	D. owe
Question 37: A. reducing	B. distributing	C. committing	D. reminding
Question 38: A. that	B. who	C. which	D. why
Read the following passage and mark the letter A, B, C or D to indicate the correct  answer to  each of the questions from 39 to 43.
There are over 3,000 species of mosquitoes in almost every country around the world, with roughly 200 species in the U.S. alone. Unfortunately, these flying pests can carry malaria, West Nile virus, dengue, yellow fever, Zika virus, and more. This danger to humans occurs when mosquitoes ingest the disease, carry it in their bloodstream and then transfer it to the next person they bite.
It’s a common misconception that mosquitoes suck blood for food. Mosquitoes ingest blood to nourish their bodies so they can lay and hatch healthy eggs. Mosquitoes can lay 100 eggs at a time, so populations of this pest can get out of control quickly. When eliminating mosquitoes, it’s key to use multiple methods, to kill mosquitoes at every stage of the life cycle.
It’s also important to note that repelling and killing mosquitoes aren’t the same thing. Repelling mosquitoes will keep them away from you by making you less attractive to them. They’re attracted to the carbon dioxide from our breath and elements of our sweat. Mosquitoes are also attracted to standing water, laying eggs in areas such as birdbaths, damp potting soil, standing water in kitchens, puddles, and more.
Killing mosquitoes may seem like a tempting option, but it’s not always in our—or the environment’s - best interest. That’s because mosquitoes can become resistant to pesticides, making them harder to kill over time. Try natural methods first if your infestation is minor, or turn to the pros if you’re dealing with serious mosquito problems.
Question 39: Which of the following can be the best title for the passage?
	A. Dangers of Mosquitoes	B. Mosquitoes and West Nile Virus
	C. Our Breath and Sweat	D. How Pesticides Kill Mosquitoes
Question 40: According to the passage, mosquitoes ______.
	A. include 3,000 species in the U.S. alone	B. suck blood to nourish their bodies		
	C. don’t lay eggs in birdbaths	D. can be killed easily with pesticides
Question 41: The word they in paragraph 2 refers to ______.
	A. bodies	B. healthy eggs	C. mosquitoes	D. populations
Question 42: The word infestation in paragraph 4 mostly means ______.
	A. distribution	B. definition	C. location	D. destruction
Question 43: Which of the following is NOT true according to the passage?
	A. Mosquitoes carry disease in their bloodstream.
	B. Multiple methods should be used to eliminate mosquitoes.
	C. There is little difference between repelling and killing mosquitoes.
	D. Professional methods must be used for serious mosquito problems.
Read the following passage and mark the letter A, B, C or D to indicate the correct answer to  each of the questions from 44 to 50.
Food security means having, at all times, both physical and economic access to sufficient food to meet dietary needs for a productive and healthy life. A family is food secure when its members do not live in hunger or fear of hunger. Food insecurity is often rooted in poverty and has long-term impacts on the ability of families, communities and countries to develop and prosper. Prolonged undernourishment stunts growth, slows cognitive development and increases susceptibility to illness.
Today, more than 800 million people across the globe go to bed hungry every night, most of them smallholder farmers who depend on agriculture to make a living and feed their families. Despite an explosion in the growth of urban slums over the last decade, nearly 75 percent of poor people in developing countries live in rural areas. Growth in the agriculture sector - from farm to fork - has been shown to be at least twice as effective in reducing poverty as growth in other sectors. 

Investing in these smallholder farmers - many of whom are women - and the food systems that nourish them is more important than ever. In order to feed a population expected to grow to 9 billion people by 2050, the world will have to double its current food production. Given scarcity of natural resources and other challenges, the world will need to be more efficient in how it meets this demand. To ensure that people have sufficient food, aligning short-term assistance with a long-term development strategy can help countries feed their own people.

By addressing acute need as well as the root causes of hunger, poverty and malnutrition, USAID is strengthening prosperity and security while demonstrating American generosity around the world. USAID’s programs draw on America’s strength in agriculture and bring benefits back to America as well. For example, USAID’s research investments have helped farmers abroad and in the United States protect their harvests from pests and disease.
The enactment of the Global Food Security Act of 2016 and the Global Food Security Reauthorization Act of 2018 solidified the U.S. Government’s continued, bipartisan commitment to reducing hunger, malnutrition and poverty around the world.
Question 44: Which of the following can be the best title for the passage?
	A. Living in Hunger or Fear of Hunger	B. Growth in the agriculture sector
	C. USAID’s research investments	D. What is Food Security?
Question 45: The word insecurity in paragraph 1 is closest in meaning to ______.
	A. charity	B. possibility	C. uncertainty	D. quantity
Question 46: According to paragraph 1, food security ______.
	A. is to meet dietary needs for a productive and healthy life
	B. means living in hunger or fear of hunger
	C. is often rooted in poverty and has long-term impacts
	D. increases susceptibility to illness
Question 47: The word them in paragraph 3 refers to ______.
[bookmark: _GoBack]	A. smallholder farmers	B. many	C. women	D. food systems
Question 48: The word acute in paragraph 4 is closest in meaning to ______.
	A. intense	B. arctic	C. severe	D. scarce
Question 49: Which of the following is NOT true according to the passage?
	A. Prolonged undernourishment slows cognitive development.
	B. Depending on agriculture to make a living is not secure.
	C. It need to be more efficient in meeting demand of food.
	D. USAID has helped farmers abroad harvest their product.
Question 50: Which of the following can be inferred from the passage?
	A. Food security is crucial, and many solutions have to be applied to secure it. 
	B. We must be more effective in reducing poverty as growth.
	C. A long-term development strategy can help reduce harvest time.
	D. The Global Food Security Act of 2016 allows the US to help other countries.
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